library(mvtnorm)
n = 50
x = seq(-3,3,length=n)
y = x
z = matrix(0,n,n)
sigma = diag(2)
for (i in 1:n)

for (j in 1:n)
z[i,j] = dmvnorm(c(x[i],y[j]),c(0,0),sigma)
end
end
persp(x,y,z,theta=25,phi=20,zlab="Funcion de densidad",expand=0.5,col="pink")
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library(mvtnorm)
n = 50
x = seq(-3, 3, length = n)
y=x
z = matrix(0,n,n)
sigma = diag(2)
for (i in 1:n)
for (j in 1:n)
z[i,j] = dmvnorm(c(x[i],y[j]),c(0,0), sigma)
end
end
persp(x,y,z,theta=25,phi=20,zlab="density function",expand=0.5,col="blue")




z = matrix(0,n,n)
f1 = c(1,-0.75)
f2 = c(-0.675,1)
sigma = rbind(f1,f2)
for (i in 1:n)
for (j in 1:n)
z[i,j] = dmvnorm(c(x[i],y[j]),mean=c(0,0),sigma)
end
end
persp(x,y,z,theta=25,phi=20,zlab="density function",expand=0.5,col="blue")
